Defensive and competitive bidding Leads and signals SYSTEMCARD V 0
overcalls  8-15 HCP suit |3rd/5tl X 4th; Attitude; Rusinow;
Responses:NAT Open others: High/low with a doubleton Q @ #
Jump overcall: Preemtive leads| NT [3th/5th; 4th; X Attitude; Rusinow; -
others: Top of nothing Jén Sigurbjérnsson Birkir/Olafur Jonsson
4th pos; Int 8-15 HCP Name of player Name of player
JResponses:  NAT
|Take out double 10+ HCP Circle opening leads vs no-tromp System summary
IResponses: NAT Underline leads against suit contracts if different  |Same leads Strong club
1NT=8+ if our side
4th pos Nat. AK KD DG G10 10x |showed suit
[Responses: N Same as above AKX KDx DGx G10x 109|Yes | no
INT OVERCALL Svor: Onnur pyding: AKGx KDxx DG109 G1098 109x IResponses: . 8+not 5card suit 2 over 1 GF (2c after 1d is asking).
2. hand= 15-18 [Double stayman AKG10x KDGx KD10x KG109  98x XX 6-10 if passed
Transfers ADGx KJ10x KD109x  K1098 XXX Sterk gerfisogn & 1laufi - Svarstill:
4. hand=12-14 |Same as above AGxx KXxx Dxx Gxx 10xx XXXX Canapé: Opnun Allar Sterk Sérstakar
Jump overcall: P|Weak  |Interm Strong |2 suiter KGxxx Kxxx Dxxx GXxxx 10xxx XXXXX Svor  hendur hendi sagnvenjur
X KXXXXX  KXXXX D109x GXXXX  1OXXXX  XXXXXX Special openings and responses that may require defence
Signal when following suit or discarding Opnanir Description
JResponses:  New suit= Forcing Use 1 = Odd no, of cards, 2 = even. #1 2D 6-10 Hcp and 5 card suits
I Jumping in NT: Minors D = Discouraging, E = Encouraging. #2 2H/S 16-10 Hcp and 5 card suits
IResponses:  Nat. cards high low odd even #3 2NT  |Minors or majors
Litur andst. sagour: michaels; 2d=majors On partner’s lead E D #4 3NT  [Solid major
Suit [On declarer’s lead 2 1 #5 AC/D |Preemtive
IResponses: 2C=drury, NAT athuga Discarding E D #6 ANT  |Minors
VS. Nt. On partner’s lead 1 E 7
Double= Good hand NT |On declarer’s lead 2 1 #8
C:dorhands Discarding D E Special competitive bids that may require defence
d=horsandc V Signal in trump suit Another signals #1 Lebensohl after NT openings
VS. Preempts Double= opening High/low=even number Oddball #2 1X-2X= michaels
Low/high=odd number #3 1H-3H=Preemtive
Special, artificial and competitive doubles 4
VS. Artificial strong 1c or 2c openings #5
D=horsandc Negative Opening double #6
fh=sorcandd take-out Important notes that don’t fit in elsewhere
Lightner
Penalty
Over opponents take out double
Jumping forc., another not forc. Special forcing pass sequences
Jredobl=10 + JPsychics openings Rare
|




Tick|min.[Neg.
opening|Arti|of | dobl Description Responses Subsequent aution
ficia|card{thru
PASS
1C X 0|3NT |16+ HCP, any shape 1D=0-8 HCP; 1 S/H 2C/D 5+suit GF. Nat; 1C-1d-1h=limit.
INT= 8+; 2H=4441 in any suit 8+HCP 1C-1NT-2C=stayman; 1C-2H-2S=relay
2S/3c/3d/3h=4-7 HCP, 6+suit 1C-1D-3c/D3h/3s=forc.
2 NT=14-15 HCP; 3C=Ask. About 4 cards suit
1D X 0|3NT [11-15 HCP 1H/S=4+suit not forc.; 1 NT=6-11 HCP Nat.
2C/ 2D/2H/S=game forc;2NT=GF Nat.
3C/D Inv to 3NT; 3H/S=slam try Nat.
1H 5|3NT [11-15 HCP 1S=forc:2C/D/S=game forc; Nat;
1INT=forc. Nat;
2S=5+suit GFt; 2Nt=fit and slam-try 1h-2nt-3c min.;1h-2nt-3d=max;1h-2nt-3h=one c;1h-2nt-3s=one d;1h-2nt-3nt=one sp.
3C/D=Inv. to 3NT; 3H=Pre; 3S,4C/D=Splinter Nat; 1H-splinter-4X=cue-bid
1S 5|3NT [11-15 HCP same as above Same as above
1INT 13-15 HCP Stayman; Transfers; if double not transfers 1nt-2c-2d-2sp=relay
3C,3D,3H,35=RKCB 1nt-3c/3d/3h/3s=not transfers and ask.RKCB if fit
2C 5[3NT |11-15 HCP, 5+4 in a major or 6+clubs |2D=relay;2H/S=one round fo.5+suit;2NT=inv.to 3r{2c-2d-2h=heart or 2 of the top 3 of clubs
3C=Pre; 3D/H/S= 6+suit and Inv.to slam Cue
2 D/H/S|X 5 6-10 HCP, 5 card 2NT=Forcing and asking 3c=5card min.,3d=6card min,3h=5card max,3s=6s max.
3nt=max and weak 6card suit.
2NT X Minors or majors 3C/D to play; 3h=Forc. 2NT-3h-3s=Minors;2NT-3h-3nt=Majors
4C,4D,4H,4S=preemtive in minors or majors
3CDHS 6 PRE. Good suit in first and sec. hand [New suit=Forc.
3NT Solid majors 4C=Asking about suit; 4D=heart,4heart=spade
SLAM APPROACH AND CONVENTIONS(including all slam-interest bids
4 C/ID Preemtive Cue-bids 4 NT=RKCB
Splinters
4 HIS 6 Preemtive 4 NT=RKCB; Cue-bid 4C/4D=RKCB after GF with minor
2C- 3D/H/S= Slam-try
4 NT Minors 1 NT-4NT= Slam-try not forc

4C=asking about 4 aces;example 1C-1nt-3nt-4c=4aces ask




